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AT HEGHAE H %% AT HEGHE H %% AT HEGHE H %% 7
B LT 0.38 A /10m X 2520.0m 96 H 0.38 A /10m X 2520.0m 96H | 0.39H/10mXx2520.0m | 990 | -3.0H
T — M OB THSTHRA | 1404 X 2.2H /104 X50% | 160 | 1404 X2.2H /104K X50% | 16 H [1404 X 2.2H /104 X50%] 16 H 0.0H
FEANFTER L 51.3m3+4.1m3/ H 13H 51.3m3+4.1m3/H 13H 51.3m3+4.1m3/ A 13° 0.0 H
R E A B AP 14045 X 1.1 H /1048 X 50% 8H | 140AX1.1H/10AX50% | 8H [40AKX1.1H/10AX50% 8H 0.0H
RV < Bk 0H 0H 2[a] X 1 A /3.2]A] 1A -1.0H

298.77¢m3+100Zm3 X 2.1 1065.97%m3 <+ 100Z%m3 X

SRR E A 298.722m3-+-1002¢m3 X 2.10 | 7H H 7H 2.1H X60% 148 | -7.00
&t 140H 140H 1510 | -11.01




